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® Before answering the questions,ensure that you have been
supplied the correct and complete question paper,no claim in this
regard,will be entertained after examination.
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4. @US-T H 26 @31 deh o - IS A) IR & e e
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Jored &1 graena  am I g

General Instructions:



1. There are S sections A, B, C, D and E in this question paper.

2. Section — A consists of one mark questions from 1 to 20. 1 to 18 are
Multiple Choice Questions (MCQs),One Word Answer,Fill in the

blank,True/False and question numbers 19 and 20 are Assertion-Reasoning
based questions.

3. Section-B consists of Very Short Answer Type (VSA) questions of two
marks each from 21 to 25.

4. Section-C consists of short-answer (SA) type questions of three marks each
from 26 to 31.

5. Section-D consists of Long-Answer (LA) type questions of five marks each
from 32 to 35.

6. Question numbers 36 to 38 in Section-E are case study based questions of
four marks each. Internal choice is given in each case study question of two
marks each.

7. All questions are compulsory. However, provision of internal choice has
been made in 2 questions of Section-B, 2 questions of Section-C, 2 questions
of Section-D and 3 questions of Section-E.

gus-&
SECTION-A

GUs-& H 1 37 & 20 g g1

1. Tf= &7 wEaTstt 1 LCM 2400 g a7 39T HCF 8! g1 ®shaT
(a)400 (b) 500  (c) 600 (d)300

1. If the LCM of two numbers is 2400, then their HCF cannot be
(a) 400 (b) 500  (c) 600 (d)300
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2. FAEIE X2 +99x +127 F AF &

(a) TAT gATCHE (b) TIAT FOMTCH (¢) FFT a6 (d) UF &aTcHF 3T UH
FUTcHS

2.The zeroes of the polynomial x>+99x +127 are

(a) both positive (b) both negative (c)both equal (d) one positive and one
negative

3 PRl & & R Goeor @ B areatas o A 87
(a) x2-4x +3v2 =0 (b)x? +4x-3v2 =0
(c)x2-4x -3v/2 =0 (d)3x2 +4+/3x +4 =0
3.Which of the following equations has no real roots ?

(a)x? -4x +3+/2 =0 (b)x? +4x-3v2 =0
(c)x2-4x -3v/2 =0 (d)3x2 +4+/3x +4 =0

4712 1,9m%3m?2 + 14,4m+21 A.P. | &, a7 m Ta< &

(a)o (b)1 (c)2 (d)3
4.1f 1,9m?,3m? + 14,4m+21 are in A.P.,then m is equal to
(a)o (b)1 (c)2 (d)3

5.71% &g (4,a) 31T (1,0) & = T T 58, qT a T A &:
(a) FaA 4 (b) FaT -4 (c)x 4 (d)o

5.1f the distance between the point (4,a) and (1,0) is 5, then the value of ais :
(a) 4 only (b) -4 only (c)x4 (d)o



6.5 T ATl &, A AB DC 2, 31 x FT A 2
(a4 (b6 (c)7 ()9

6.In the given figure, if AB DC,then value of x is
(a)4 (b)6 (c)7 (d)9

7.9 =1 7, AC 3T AB, O g aTol Us g 9% &7 w@ru g1 Ifs COD =
120° 99 BAO sX&< @ :

(2)30° (b)60°  (c)45° (d)90°

7.In the adjoining figure,AC and AB are tangents to a circle with centre at O. If
COD = 120°then BAO is equal to

(a)30° (b)60° (c)45° (d)oo°



8.7 sina = ? T4 (tan? o — cosa) FT TIT 2 :

@k (b) 3

o

(c) % (d) S & =IS Ael

8.If sina = ? ,then the value of (tan? a — cosa) is

(a)g (b) g (c) % (d) none of these

.U UH ST &7 &l [STaeh! Tfe IHeh! 1537 r TS &1 A1 AT &,

5.

2 2
(@ e (p2rwtsms (R (d) 5w

9.The area of a sector whose perimeter is four times its radius r units, is

2 2
(a);sq. units (b)2 r?sq. Units  (c) r? sqg. units (d) r?sq. units

10,713 T et 3T UF I A7 IS &6 a6 &, AT ANl o SATH S =T a0l
ST 3T ST
(a)l: 2 (b)2:1 (c)T : V6 (dWV6 : VT

10.If a sphere and a cube have equal surface areas, then the ratio of the
diameter of the sphere to the edge of the cube is

(a) 1: 2 (b) 2 :1 (c)v V6 (d)WV6 T

11,77 Toret ST &7 agas IH ATed & 12 A8 31 7T &, AT dgelsh AIeda
o TR stferss g1 Srar g2

(a) 4 (b) 8 )6 (d) 10



11.1f the mode a series exceeds its mean by 12 , then mode exceeds the
median by

(a) 4 (b) 8 (c)6 (d) 10

12. 400 =T %[ U &9 H G 31 AT sl TA979T 0.035 81 3 &9 § G
SISt T HEAT
(@) 7 (b) 14 (c)21 (d) 28

12.The probability of getting a bad egg in a lot of 400 is 0.035 .The number of
bad eggs in the lot is :

(b) 7 (b) 14 (c)21 (d) 28

13.7fax=22 x 32, y=22 x 3x5,7=22 % 3 X 7 3f¥ LCM(x,y,z)= 3780 &, AT a &I {7
2l

13.1f x=22 x 32, y=22 x 3x5, 7=22 % 3 X 7 and LCM(x,y,z)= 3780, then the value
ofais

14Tt T 6T THTa Tq9T TATSAT o o1 ol gLl 9l BT gl

14.The distance between the parallel tangents to a circle is the of the
circle.

15.(1+tan?0) (1-sin B) (1 + sinB) FT HTH 2l

15.The value of (1 +tan®0) (1 -sin B) (1 + sinB) is

164X sinA = - ¥ cosB= - & AT A+ B HT AT T £2

1

16.If sinA = >

and cosB= % then what is the value of A+ B ?



17.r AT Tt Sefgw & a9 ga9 a2 BT #7 &= foha+T 8?

17.What is the area of the largest triangle inscribed in a semi-circle of radius r ?

18. U STATRAT a2 Y (AT AT &

18.A frequency distribution is given as :

Class Interval | 0-5 5-10 10-15 15-20 20-25
et aRrer

Frequency 10 15 12 20 9
IRERAT

HTEA AT AT AgeAsh a1 ol (7o HIHTSAT 7 TNT FAT 52

What is the sum of the lower limits of median class and the modal class?

TeaT 19 3iX 20 & v feer Ader: weaT @war 19 31k 20 #, 3wy A) F
STe dh(R) &1 HUA gl (a), (b), (c) 3R (d) H & F& aheT Tt Siam o oA
e = &

(a) AFFUA (A) IR d® (R) c=r T § 3R a& (R), 3fFsaT (A) Hr
TET ATEAT FIAT ¢

(b) AfAFHUA (A) 3R d& (R) a=r T@Er g 3R d& (R), 3fFwRa=A(A) &
T grEAT T B

(c) HfFFYUT (A) FET §, R dF (R) ) TTod & |
(d) 3R (A) T §, e d (R) eI &l

19. 31 AFYT(A): V2 TF FaRAT Ear g |

% (R): 7f3 p TF TSI €T &, AT /P TF ATHT HE&AT 5




20.37fAFYA(A): &g P(-1,5) 3R Q(7,3) & T & gfr 4V7 &l

a® (R): & QU a1T &gt A(xe,y1) 3R B(xzy2) & & &1 g et ganr & 18
e

AB=/( 2— 1)2 +( 2= 1)?

Direction for Questions 19 & 20: In question numbers 19 and 20, a statement
of Assertion(A) is followed by a statement of Reason(R).Choose the correct
options from (a),(b),(c) and (d) as given below:

(a)Both Assertion(A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion(A).

(b) Both Assertion(A) and Reason (R) are true but Reason (R) is the not
correct explanation of Assertion(A).

(c) Assertion(A) is true but Reason(R) is false.

(d) Assertion(A) is false but Reason(R) is true.

19.Assertion:\/2 is an irrational number.

Reason: If p be a prime,theny/ is an irrational number.
20. Assertion: The distance between the points P(-1,5)and Q(7,3) is 4v17 .

Reason: Distance between two given points A(x1,y1) and B(xy,y,) is given by

AB=/( 2— 1)2 +(2— 1)?

s -g
SECTION-B
US-@ H 2 3T & 59T ¢

Section B consists of 5 questions of 2 marks each.



21.(a)afg 2x+y =233R 4x-y = 19, a9 5y -2x 3R Yo% Am EIGEASE]
X

37ar

(b) p 3 et AT & AT 70 T 1T FHYRROT oo 7 316 AT e &7
4x +py +8=0
2x+2y+2=0

21. (a)If 2x+y =23 and 4x-y = 19, find the values of 5y -2x and— - 2.

OR

(b JFor which values of p does the pair of equations given below has unique
solution?

4x +py +8=0
2x+2y+2=0

22 50 ¥ x T a8 "I FA7q shitory forereh forT DE AB 2|

22. Find the value of x for which DE AB in Figure.

10



23,37 Hehfed FAL ahl TISATU 5 FHT 3T 3 HHT g1 I I ol I STAT ol AaTs
ST HITSTT ST g1 =T T #97 FTAT 2

23. Two concentric circles are of radii 5 cm and 3 cm. Find the length of the
chord of the larger circle which touches the smaller circle.

24. (a) T sin(A-B)= %313'( cos(A+B)= iz : 0°<A+B< 90’;
A> | drA3T BATT HiU|

EREH

2 b2
24.(b)afe x=asin@dAT y = btand ,d« i—z—y—zﬂmﬂm

ST |
24.(2)If sin(A-B)= 3 and cos(A+B)= = ; 0°<A+B< 90"

A>B, find A and B.
OR

2 2
24.(b) If x=a sinB and y = b tanB ,then find the value of 7 — —

25. 20 HaT x 16 HIET ATATH dTeT Teh ATTATHTE HETH o Fid I TF T FT 14

HeT T TEHT | ITET AT 8| ST & T S ST i o0 (orer ¥ I =L Tehel |
gl

25. A cow is tied with a rope of length 14 m at the corner of a rectangular field
of dimensions 20 m* 16 m. Find the area of the field in which the cow can
graze.

11



gus -
SECTION-C
US - A 33H F 69T Bl
Section C consists of 6 questions of 3 marks each.

26. forg Frfor f36 24/5 -3 U AUAT | g Sath /5 & aaT o
2|

26.Given that v/5 is irrational, prove that 2v/5 -3 is an irrational number.

273 0,p FgIG 2x2-7x+3 & Yrdh &[T 0? + B F AT A HISC

27.If , are the zeroes of the polynomial 2x2-7x+3 .Find the value of o + 2.

28.(a) T FHRTAETT T& o o7 fehaTel R0 9% 3aT g1 98 T8l &l (&A1 & [oU
T AT o o1ar &, 3T 39 918 T [ o (o710 U ST iwh o odTl gl
TRt 7 g AT T Tt TS ohaTar o o0 2 22 T ETaT (63T, STah Mg o
AT [T T TET TS FhdTa o o0 2 16 37 A 63| Heiia g sl T
srta e fae o fore ge w1t fitsro)

ATAT

(b) =T 3T T HEAT AT 3T T IS T ITH H&AT T AW 66 g TS G&AT 6
ST § 2 T 3(A< g, O T&AT S7d e

28. (a)A shopkeeper gives books on rent for reading.He takes a fixed charge
for the first two days, and an additional charge for each day thereafter. Latika

paid X 22 for a book kept for six days,while Anand paid X 16 for the book kept
for four days.Find the fixed charges and the charge for each extra day.

OR

12



(b) The sum of two- digit number and the number obtained by reversing the
digits is 66. If the digits of the number differ by 2 ,find the number.

29,7 W g7 AT ABC &1 ST BC %7 P 9% 9T 92TE T8 o3l AB ¥
AC &7 FHET: Q 3T R =TT Far g, 1 forg ¢

AQ=3(BC+CA + AB)
e
B
P
A e

29. If a circle touches the side BC of a triangle ABC at P and extended sides
AB and AC at Q and R, respectively, prove that AQ= % (BC +CA +AB)

30.(a)afx sin@ + cosb=+/3 ,aa &g Fforr f tand + cosb =1

EREN

COtA —COosA _ cosecA—1
COotA+CcosA B cosecA+1

(b)Fg Rt &

30. (a)If sSin@ + cosB=+/3 ,prove that tanB + cosO =1

OR

COtA —COSA _ cosecA—1
COtA+CcOosA - cosecA+1

( b )Prove that

13



31.0F 9T § 24 73 ¢ ISFH | x AT &, 2X THE g 31 3x A1l gl TH g
TG e ®F ° AT ST g1 THehT FAT Tl g o ag (1)1 Ael a2 (i) THe
g ?

31. A bag contains 24 balls of which x are red, 2x are white and 3x are blue. A
ball is selected at random.What is the probability that it is (i)not red? (ii) white?

Tus-q
Section —D

Section D consists of 4 questions of 5 marks each.
GUS-H H 531 & 492 gl

32.(a)T T FATAT o 0T T TLrAT H 30 3ihi § 7 10 37 7fea w17 &0 gra,
qT T 3 IA ATEA (A 30l o a3 T AT AT gIdl| TLEAT | IH Toha e 3tk [Her?

EREN

(b) T FHITT GATCH JOTih ATT FHe (oTh AT FHT AN 365 &

32. (a)Had Sunita scored 10 more marks in her mathematics test out of 30
marks, nine times these marks would have been the square of her actual
marks.How many marks did she get in the test?

OR

(b )Find two consecutive positive integers,sum of whose squares is 365.

33.(a) AMFA | Afe 1= 27T

ANSQ  AMTR, a« f&rg IS fF APTS~APRQ.

14



33.(a)In figure ,if 1= 2andANSQ AMTR, then prove that
APTS~APRQ.

R

OR

(b) ABCD T# TR g fSra# AB DC 3T 38 (90l UFh ga¥ &l fdg 0 1%

P~ : AO _ CO
Ja=se Fd 8l EQI‘T?:Q%E—DO

(b) ABCD is a trapezium in which AB DC and its diagonals intersect each other at

the point 0. Show thate> = =
e point O. Show thatz = = ==

34.(a) T BN TGl I & I Tl Teh ofFd g A% & IhR H gl AH
Fr FAs 4 T 3R IR FT T 8 FHT &1 [Wellar 1 3madsd g direw| afe vh
ool el & aRera &, O g 3R @ella & 3maaea &1 3aR) Aa fifew el

T Fel ST &ahel 3T AT FHIfST|

(a) A solid toy is in the form of a hemisphere surmounted by a right circular cone.
The height of the cone is 4 cm and the diameter of the base is 8cm.Determine the
volume of the toy. If a cube circumscribes the toy,then find the difference of the
volumes of cube and the toy. Also, find the total surface area of the toy.

R

OR

15



(b) StaT & = § fammar 3 2, ue 3 eie % Tos g | U qrerd

RToTehe Teh et T ATHTT S9TAT AT 7| J1E I il SHATs 10 HHT & 3T 36eh
ST T FISAT 3.5 AHT 8| TG T T TSI &AHA AT i o]

( b)A wooden article was made by scooping out a hemisphere from each end of a
solid cylinder, as shown in figure. If the height of the cylinder is 10 cm, and its base
is of radius 3.5 cm. Find the total surface area of the article.

35.(a)MH eI STihst &7 ATedTs® 525 gl FTQ STLaTAr T ARTHA 100 g, T x 3T
y T /I ATd 1

35.(a)The median of the following data is 525. Find the values of x and y, if the
total frequency is 100.

Class Interval Frequency
g 3raTrer IRERAT
0-100 2
100-200 5
200-300 X
300-400 12
400-500 17
500-600 20
600-700 y
700-800 9
800-900 7
900-1000 4

16



R
OR

(b) ToFET T % 50 ATHFT i IFH ASIGL o MAeed @aeor 92 =
ERY

( b) Consider the following distribution of daily wages of 50 workers of a
factory.

Daily 100-120 | 120-140 | 140-160 | 160-180 | 180-200
wages(in
HEED
(T
)

Number |12 14 8 6 10
of
workers

LEE

£T TegT

ST=ra TaTer 7 STANT ek HIETH & ATl S aieieh ToTgdl Sd Fe

Find the mean daily wages of the workers of the factory by using an
appropriate method.

gUe-T

Section-E

Case study based questions

17



36. TATHFT | FT AR o AqHH o Tgol AT Jed 6 THIT [Q@TT MU &:

36.The first four patterns of a sequence of figure made of toothpicks are
as shown:

Pattern1 Pattern 2 Pattern 3 Pattern 4

(1)159 Te H fohavt zITuF 82

S

(i) How many toothpicks are there in the 15" pattern?

(i) T n 7 136 ATIAT &, Tl n T AT FATE?

(ii) What is the value of n, if pattern n has 136 toothpicks?

(iii)(a)TZer 30 Tewt ST | FohavT o Tuar &7 ITTRT FhAT STTaT 872

(iii) (a)How many toothpicks are used in making first 30 patterns?

4T OR

(iiii)(b) 20 Tt T a1 | FohaeiT 22deh sT STANT FRAT SITAT 87

[SN

(iii)(b)How many toothpicks are used in making 20" pattern?

18



37,0 SR(AT U a3 o AT AT g| FTSAT § (1= ol ST I Uh gHL H 1 /e
T LT IT ATHT UL o 9T T A S I AT h GTel H To=T ATl gl
SUUE Rt §, AT F FeAT 10 o ST ° 7EG ATl Srgid g8 o7 U ATe
ERIRIS IR I E E R L LG

_m"."‘" i

37.A garden is in the shape of a square .The gardener grew saplings of Ashoka
tree on the boundary of the garden at the distance of 1 m from each other.He
wants to decorate the garden with rose plants. In the above situation, the
gardener took help from the students of class 10.They made a chart for it
which looks like the given figure.

IUIE & e 9, Aetertaa v & s SN

Based on the above,answer the following questions:

(iyTT= A T o fog & &7 | T Sirar g, @ APQR & oftof & Maeris #1582 1

(i) If A'is taken as origin, what are the coordinates of the vertices of APQR ? 1

19



(i) (a) =T PQ 3T QR FATT HITTT| 2

R

(b)3H &g & Maere A1 < 51 [9g P 3T R &l SIS ATer @7 @€ &l ATaiah
T 2: 1 o AT | FArATHoIT Hear gl 2

(ii) (a) Find distances PQ and QR. 2
OR

(b)Find the coordinates of the point which divides the line segment joining
points P and R in the ratio 2: 1 internally. 2

(i) FfsTe 3 a1 APQR Tk HAGASTE ST & 1

(iii) Find out if APQR is an isosceles triangle. 1

38 IS TS TSTEATH o SHad forel § Rorq 81 T80 STHeTHT 3 1T o a9 a1
o7 31T 1431 oTaTeat | ST (Hg o THRT AT HI0AT AT| St § g ATl
2| I | U &l §q (= § Q@3 7 g| = &7 3%| 9T s T & h #{iex
ST UF (g A €, Fadt # it (6 B) T ST HI07 450§ ST I H T8
Tt T AGTHT DI (63 C) 60° Bl ST TL F FUL S Al HATS (THTHT)

10 HTeX gl

20



38.Gadisar lake is located in the Jaisalmer district of Rajasthan. It was built by
the King of Jaisalmer and rebuilt by Gadsi Singh in 14t century. The lake has
many chhatris. One of them is as shown in the adjoining figure. Observe the
picture.From a point A, h m above from water level,the angle of elevation of
top of chhatri (point B) is 45° and angle of depression of its reflection in water
(point C) is 60°.The height of chhatri above water level is (approximately) 10 m.

UL ST o ree ¥ fAerferfera wen & sae St

(i) STEIE STTARTLL o AT T U Aot q¥g & ATHI ol SATRId ST 2
(ii) ST ¥ | 9T [6g A i 3912 (h) AT DTl [V3 = 1.73 ITANT it ]
2

Based on the above information, answer the following questions:

(i) Draw a well-labelled figure based on the above information. 2

(i) Find the height(h) of the point A above water level. [ use V3 = 1.73] 2

21
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MARKING SCHEME BSEH PRACTICE PAPER 1, 10™ TI'fﬁl'El'(ﬂTFl'?zh')
March2025

(& aTeTH )

Expected solutions

mar
ks

que-F

(b)500

(a) IET gATHE

[EY

(a)x%-4x +3v/2 =0

(b)1

()4

(c)7

(2)30°

O INjfoojun|b|l W N[

(a)2

RlR[R|Rr| R -

(c) r? a3t st

=

10

(d)V6 : T

[EY

11

(b) 8 [ SgeIsh = 3HATETR-2HTEY T 39NN Fleh |

12

(b) 14

13

a=3

14

22183

15

1

16

A+B=90°

17

1* 3 5aT$

18

10+15 =25

RlR| RR[R| R R|[R| R

19

(a) 3fFFYAT (A) IR T& (R) = der g 3R d& (R), 3ffwaa (A)
$T  TEY TATEAT IAT &l

20

(d) 3FRUT (A) T 8, W] T (R) FET B

ygus -

21.

(a)

SILH T &, GHTL ITH LG THIR0T 36 Th g,




FHTHLT (i) TAT (ii) FT SIS T,
bx =42
x=17.

(i) ® x & /T T TTaeATod e 9%, gH Heaar g,
2(7) +y =23

14+y=23

y=23-14

y=9

Sy - 2x 3T y/ x - 2 § x 3T y o AIAT T FTAedTod F7d U<, g4 Wear g,
5y-2x=5x9-2x7

=45-14

=31

y/x-2=9/7-2

=-5/7.

1/2

1/2

1/2

1/2

21.
(b)

ECI'aT-FSrEﬁ,a1=4,a2=2,b1=p3ﬁ'{ b, =2.

T3 g FHHOT & U [0 T g AGdid g, qd
ai/az # bi/b,

TH TR, Y AHIERCO & 30 | 4 il GIEHL p  TGHT I & o TF
SESiRERIE

1/2

1/2

1/2

1/2

22.

feam &: DE| | AB
ZH X T HIT AT FHLAT 2

AH




CD =x+3
AD =3x+19
CE=x
BE=3x+4
IMRSYT FHATA AT THT IR
CD/DA = CE/EB

(x+3)/(3x+19) = x/(3x+4)
3R IR IOM FA T
(x+3)(3x+4) = x(3x+19)

UTATCH ST [AdaoTTeHe 07 5T,
3x2+4x + 9x + 12 = 3x* + 19x
3HITASS Ual &l FHleed W

13x +12 =19x

13x-19x =-12
-bx =-12
x=12/6

X=2

THTTT, x T /19 2 Bl

1/2

1/2

1/2

1/2

23.

2 T Y StraT g g Y et g ST fF f= R o G § e

TAT 2

1/2




PQ U € I il SITAT 3 Tah Gl I ! eq¢<a@T &l
097 Y@t PQ ¥97 &g S 9 BT & 9 g

THeTT, ZOSP = 90°
THHTT AOSP |

qTETTIEE 0T T
OP? = 0S? + SP?

52 = 32 4 Sp2

SP2=25-9

SP2=16

SP=+4

SP Tq9T ¥@T i AdTS & AT FUTTCHE A5l Bl Tohd]

Fq:, SP=49HT

QS = SP (QP &I I I ! (14T HIAd gU 5 | & 4T il GHIGHAT
FIATE)

AT, QS = SP = 4 HHY

SeaTfrdarE PQ=QS+SP=4+4

PQ =8 &1

A TS I il S(AT 0l AaTs 8 THT &

1/2

24,

(a)

sin(A - B) = 1/2 = Sin(A-B) = sin (30°) =A - B = 30°....(1)

1/2

1/2

1/2




ST, A T /I FHIH0(2) H @ 97, g6 UTH gIdT g 45° + B =60°

1/2
= B=15°
¥, A=45° 3R B=15°
24,
(b) a%/x2-b2/y?
1/2
=a?/a%sin?0-b?%/b%tan?0 [ ."x=asin®,y=btan0]
=1/sin?6-1/tan?6 1/2
=cosec’6-cot?6 1/2
["." 1+cot?B=cosec?0.".cosec?B-cot?0=1]
=1 1/2
25. | fear g 20m x 16m 3T F Th IIdRR Held
Ueh 9T Pl HAIAPR HGT & it W 14 Hiel el ITHT § 197 37137 2
H Td & ag SAAHA AT HLAT & [oTEH I 9 Tehet | g
D C
G _____
\:,‘E
\\‘ 1/2
A F B

HTT S TorT T3 ABCD Teh 3TAAThIT A 8l

AFIT § W <@d g 1o I o9 &5 &l 9< Tohdl g 98 U g9 & Uh




PeaEs & T H gl

AT:, AGEF 14 Hiex FB<aT 7ol a1 &1 U HeaEs gl

BrsaEs T &% = nr20/360° 1/2
Tg1,0 = 90°
BrogEs T &3% = (22/7)(14)3(90°/360°)
= (22)(2)(14)(1/4) 1/2
= (22)(14)(1/2)
= 11(14)
.................................................................................................... 1/2
= 154 m?
q:, T T &3 ° 9 9ahc | & 98 154 a9 e g
gusg -
26. | Frer Mo &5 3-2 5 oA wEw s
al?r:s‘@r% =9 § foraT J1 gdT g
T2l a 3 b #E-AATST § A bz 0 1/2
3-2V5 =—
A SIS T
_ o_a_ 3b-a 1/2
2V6=3-—r==
............ L
5= 2b 1/2
i
et V5 i & 1/2




3T 3IWFT T REmIg gl

ST FANY Fodal ITdd &. 1/2
A 32 V5 AIRHT &
27.
9% a3k P FTEIT f(x)= 2x2-Tx +3 F AT T
a+p==(3)=gtop=3 1
s a2+ B2 = (0 +B)° — 20P 1
7\2 3
=(3) —2%3- ,
49 3 _ 49-12 _ 37
4 1 4 4
%:)' AT o1 o X x ager &1 faat & forw fReifa oo & 3w 2
e ST T<<h (o o (o7 [ Xy B
Tl Rt F,
ATt 7 g (AT T TET Teh TEqh o (01T < 22 T SFIAT AT 1/2
Rl M— (1)
AL 91 % AT,
A AT &A1 T T U fohara o forw K16 7 qaare 12

FHARIOT (2) dF (1)F g &), gH Helar g
2y =6




y & AT FHOT (2) H @ |, g7 Aerar &

1/2

X+2x3=16
x=16-6=10
x =10. 1/2
x =10.
zHfer, et g = X 10 3T T At & #7 9% = X 3. 1/2
?E)' AT AT o T8l &7 | 3815 & €19 U< X Tahls & €19 9% 3iF
FHI: x ATy Bl
U TEqT [ feqTid &9 H 10(x) + y % T H =<6 3T AT ThdT 21
SR ol STed TT, X THIS 1 3 g AL y Tgls Al 3 gl T FgeaT& o | 12
AT 3 10(y) + x &
T % AT,
(10x +y) + (10y + x) =66
DX+Y=6 . (1)
AT Bf, T8 T a3 17 ¢ 5 7 st o ofi= &1 ¥ 2 B
X-Y=2 oo, (2) 1/2
Y -X=2. (3)
Sig x-y=2 1/2
THIHLOT (2) T (1) e 9%, g6 Tear g
(x+y)-(x-y)==6-2
2y=4 1/2

y=23R x=4.
" G 31 ! AT g= 10x +y = 40 + 2 = 42.

STy -Xx=2

THIHLT (3) AT (1)F T2 9, gH Herar g




(x+y) -(y-x)=6-2

2x =4 1/2
x=23R y=4
", @ 37T %1 §&AT =10y +x =20 + 4 = 24
AT IMAFA23AT 2478
29.
Q
B
1/2
P
A =
C R
ST 797 8: TF 37 AABC &I <11 BC &7 P 9¥ 3{IX T AB @7 AC &l
AT TETH IT FHET: Q 3T R U I 97 FAT 2
oG #4718 : AQ=1/2(AABC &T IHTY) 1/2
ST FoReft Ay Ty & =1 o= di=t 7 el Taret it d"re e gl |,
=AQ = AR, BQ = BP, CP = CR.
A ABCHT f¥HTT = AB + BC + CA "
= AB + (BP + PC) + (AR - CR)
1/2

= (AB+BQ) + (PC) + (AQ-PC) [ AQ=AR,BQ=BP,CP=CR]




=AQ=1/2 (AABCHT TfxHTT )
" AQ, AABC % TIHTT & T&T 91 g

1/2

30.
(a)

3T 8 : sinf+cosd= 3

(sinb+cos0) 2=3

sin 20+cos 20+2sinfcosf=3

1+2s1n6cosH=3

2s1inBcosf=2

sinOcosO=1

................................................................................................

sinfcosB=sin 20+cos 20
sin? 0+cos? 0

sinBcos O

=tan@+cotd=1 IJgT gy T AT |

1/2

1/2

30.
(b)

COotA —COosA

LHS=
cotA+cosA

COSA
—— —COSA
_ SINA
~ COSA
—— +COSA
SINA




1

_ COSA(W
1

COSA(Sim

—1)
+1)

cosecA—1
=—=RHS
cosecA+1

31.

QAT AT &, T It H 24 < g [OFH & x &7, 2x T%% 31T 3x AT 2l

U 35 ATg g & F AT SATT 2
X+2x+3x=24

bx =24

X =24/6

x=4

AT Tl Y HEAT = x= 4

The TSt T AT = 2x = 2(4)
=8

TTeft =T Y 7T = 3x= 3(4)
=12

(iyOET 7@ T FA T TTAHAT ST AT Tal &, HH FRT&I T2 8
SR LU = ATA o AATAT 7 &

= Thg T + Aot g

SR TILOTTHT %0l H&AT = 8 + 12 = 20

HATIAT TR 6§ = 24

UHT G A il ITRARAT ST ATA A5l g = e TILTHT %0l HAT/aqATad
TR T ST

ITRAT = 20/24=10/12=5/6

(ii) ThE TG FAF il ITRAFHAT = AR TR sl HAT/FAATAT TROTHT

1/2

1/2




£T Tear
ITHRdT = 8/24=1/3

gue-g

32.
(a)

T AT T IEeT H T 379 A1 e 2
HTHET o aTeafas® dd x g
e A = 30

x2-15x+6x-90=0
X(x-15)+6(x-15)=0

(x+6)(x-15)=0

I x+6=0

X=-6

AYATx-15=0

x=15

SFUTTCH T2 X = -6 T GIEd T¢

x=15

TH T, FATAT & TEeAT § 15 375 a1 |

1/2

1+1

1/2

32.
(b)

AT T8 qUITF X 2|

STAT FHHITT GATHE UM x + 1 FHMT
2T 7T W7 % ST, x T x + 1 3 A R AR 365 2

X2+ (x+1)%=365
X2+ (x2+2x+1)=365["." (a + b)? =a% + 2ab + b?]

1/2




2x2 +2x+1 =365
2x2+2x+1-365=0

2x% +2x-364=0
2(x*>+x-182)=0

x> +x-182=0

x? +14x-13x-182=0
X(x+14)-13(x+14)=0
(x-13)(x+14)=0
Xx-13=03Rx+14=0
x=133R x=-14

X T HTH FE0TCHT qgl gl dohaT (FA1Teh T8 37T 73T g o qorte edtede 8)|
TH THT, B9 X = -14 Tl AFET Hd 8|
Cox=133Rx+1=14

1+1

1/2

33.
(a)

P

M Q R N

Rem & ANSQ AMTR3R ZL1=Z£2
feyr &% ¥ : APTS ~ APRQ

TR (i) 3T (ii) |, PS/SQ=PT/TR

1/2




= ST || QR [T TR RAT S5 6 (o g |
S £1= ZPQR [&eTe @toT ]

ik £2=ZPRQ

APTS @r APRQ #

ZP= /P [353fass Fior |

Z1=/ZPQR

Z2=/ZPRQ

.". APTS ~ APRQ [AAA FAFTAT AT gaRT ]
33| i fagTU U gHEs ABCD WY fa= ¥

(b)

a9« ABCD ¥,

AB || CD

AT BT, AC 3T BD foig 0 7% wfd=ag F¢d &l

&g O A EIHT AB 3T CD (XY | | AB, XY | | CD) & HHTHTAT XY &l TAAT &<

OY || AB (=T )
SATEMT FHTIAT AT THE o TTETT
BY/CY = AO/OC....oouoee.... (1)

ABCD #H
OY || CD (T )

SATEMTT FHTATA AT THT o ST




o (1) 3R (2) &
OA/OC = OB/OD

= 0A/OB = OC/OD
Tol g FAT T |

1/2

1/2

34
(a)

91 % SATLT =l SHaTs AT ATH 4 HHT 3T 8 HHT 7

28 T &7 sraae 7 AT 2

gH A9 ST e & A &7 Sa S el & Ff IS e =%he A1d
FLAT B

919 o STETY T SATH = (eI T ATH = 8 FHT
Prear=g/2 =4 7+t

FLTTT T ATAA = (2/3)mrd
=(2/3)(22/7)(4)?
=134.095 cm?

1/2

1/2




Q% T AT = (1/3)mr2h
=(1/3)(22/7)(4)*(4)
=67.047 cm3

AT T ST = STETICT T AT + & T AAAA

=134.095 + 67.047
=201.142 cm?

safow, @l &1 3madeT 201.42 cm® §

g, e F A AR Uw a9 8
o T ST = 3TeRTIeT T AT = 8 T

o T ST = a3= (8)?
=512 cm?3

T Y T & AT § 37 = I T A1qq - Qe 19 7 3a=

=512-201.142
=310.858 cm?

9T T @ TS &A= url
fadfs $ome, 1=/ 2+ 2 = /42 + 42=/32=5,657cm

919 T Ak TSI &%= (22/7)(4)(5.657)

1/2

1/2

1/2

1/2

1/2




=71.117 cm?

SIS T a%h IO &A= 2mr?

1/2

=2(22/7)(4)? 1/2
= (44/7)(16)
=100.571 cm?
T &7 T THT &= = 975 T a5k TSI &I + SNl T a6 THT
SERT]
=71.117 + 100.571 1/2
=171.688 cm?
34.
(b)
1
1
= 21rh + 2 % 2mr? .
=2><§><3,5><10+2><2><%><(3.5)2 '




=2X % x 3.5 %(10 +7)
1/2
=7xZx (17)
1/2
=374 cm?
-?5)- EUE RRE] CIECIEGII =Y JrETEr
da
0-100 2 2
100-200 5 7
200-300 X 7+X
300-400 12 19+x
400-500 17 36+x
500-600 20 56+x
1
600-700 y 56+x+y
700-800 9 65+x+y
800-900 7 72+x+y
900-1000 4 76+x+y
gg fear s § & n=100 1
SAMT , 76 +x+y = 100 AT X+y = 24, (1)
HATET® 525 8 ST a1 500-600 § R g
1
sgfaw , | =500, f= 20, cf =36 +x, h= 100




Hj:mwa;=l+<_ )X T 3T e T/ 1/2
525 = 500 +(5°‘2306‘ )% 100 1/2
525-500= (14-x)x 5
25=70- 5x
1/2
5x=70-25=45
x=9
qq@, (1) ¥, gH I BT & "
O+y =24
y=15
35,
(b) || &k oty (ot R () | wegl A ()
eIl )
100-120 110 12 1320
120-140 130 14 1820 2}
140-160 150 8 1200 2
160-180 170 6 1020
180-200 190 10 1900
=50 =7260




......................................................................................................................

= 1452

1/2

36.

(i)A.P.=4,7,10,13,...ococ......
d=7-4=3

an=a +(n-1)d

a;s=4 +(15-1)3 =4 +42=46

(i)A.P.=4,7,10,13,..............
d=7-4=3

an=a +(n-1)d

136=4 +(n-1)3
136=4+3n-3

136-1=3n
135 _

(11)(a)A.P.=4,7,10,13,..............
d=7-4=3

a=4

n=30

S=21[2 % 4 + (30 — 1)3]

S30= 15 [8 + 29 x 3]




S3;0= 15 %X 95=1425

(iii)(b)A.P.=4,7,10,13,..............
d=7-4=3
a=4

an=a +(n-1)d
as0= 4+(20-1)3=4 +19% 3=4 +57=61

37.

())APQR # ¢fiut 3 fA=era P(4,6 ), Q(3,2) 3T R(6,5) & |

(@) PQ=V(3=4)* +(2-6)* =(-1?+(=-4) =/ITm

QR=,/(6-3)2 +(-2)2 =,(3)2+(3)* =VI8m=3v2m

......................................................................................................................

(ii) (b) T AT S(x,y) FE &g g ST &gl P(4,6) ¥ R(6,5) &l fHaTT
ATl TETEE &l AT &9 8 2:1 % Farq § farArera wear g |

2X6+1%x4 2x5+1x%6
fasmmsie @7 gar”t S(x,y)= S ( o o1 )

12+4 10+6
=g (2t 0y o

16 16
=S(5.3)




......................................................................................................................

(11)PQ=y/(3—4)2 +(2-6)2 =,/(—-1)2+(—-4)=/17Tm

QR=,/(6—-3)2 +(-2)2 =,(3)2+(3)* =VI8m=3v2m

PR=\/(6—4)" +(5-6)° =J(@?+(-1)"=V5m
PQ# QR # PR

APQR U= gH{gaTg s 951 8 afcd Us Auwarg s 2|

38.

(i)
B
10 -h
y 45 D
hiN60° X h
A

(i) &I A ADB # , tan 45° = BD/AD




.. AD = BD/tan 45° 1/2
AD=BD = OB - 0D =(10-h) m

FHFIT AADC F 1/2
tan 60° =CD/AD=(10+h)/(10-h)
= (10+h)/(10-h) =v3 1/2
= 10+ h=10Vv3-v3h
= (V3 + 1)h = 10(v3 - 1)

1/2

S h=10(W3-1)/(V3+1)
h=10(v3-1)(V3-1)/(V3+1)(V3-1)
h=10(3-1)%/2

= h=267m [V3=1.73 & 39T T g
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